Efficiency vs Dxy(PV)
S 0.2
o
0.18
S
»0.16
>
20.14
5]
'50.12
g
® 0.

0.08

0.06

0.04

0.02

R

Ratio

0.

5=30-15-10 5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— 2/CMSSW_12_3_X_2022-02-25-2300/src/DQM_V0001_R000000001__Global__mkFitOLD__RECO

[Efficieng —— CMSSW_12_3_X_2022-02-25-2300/sr¢/DQM_V0001_R000000001_Global__mkFitNEW__RECO

0.8

0.7

0.6

0.5]

efficiency vs dxy(PV)

0.4

0.3]

0.2]

Ratio

0.4 0.6 1
TP dxy(PV) (cm)

S 0.5

o
N
Ul
QL L LRy LRy LR LA LY LA LR LAY LA

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.8,

0.7

0.6]

0.5]

efficiency vs dz(PV)

0.4]

0.3]




	Contents
	Page 1


